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B[R] 3,561 175 22 266 495 316 4519
SRR 917 76 10 41 148 37 1,192
aFR8 879 80 2 55 197 80 1,213
=R 2,114 157 3 91 342 150 2,707
AR 689 28 0 27 106 28 850
LR 814 57 7 33 158 64 1,069
mEE 1,918 215 22 82 424 150 2,661
KR 3,533 170 6 206 617 252 4,532
N 2,242 100 2 119 494 182 2,957
HER 2,764 161 6 148 519 184 3,598
BEE 10,605 376 17 641 2,318 764 13,957
FEE 7,278 260 35 493 1,391 556 9,457
RRED 18,206 243 13 548 2,792 1,379 21,802
fESNS 12,311 282 12 549 2,324 1,012 15,478
Hino i 1,965 136 2 110 449 151 2,662
2R 935 42 1 35 177 77 1,190
alllR 1,151 40 0 39 158 68 1,388
BHE 826 39 4 33 143 41 1,045
LLBR 978 42 3 52 219 70 1,294
REFE 2,042 66 24 110 437 169 2,679
I RIS 2,120 140 6 72 602 233 2,940
EEIR 3817 154 3 187 1,026 347 5,187
BHIR 10,330 346 4 483 2,344 1,201 13,507
=ER 1,861 93 12 59 531 197 2,556
BER 1,322 65 0 29 287 84 1,703
RERRT 2,478 107 5 132 651 285 3,373
ARRAT 9,492 488 17 587 1,902 933 12,486
"ER 5,426 181 8 222 1,263 507 7,100
ZRE 1,124 61 9 44 197 61 1,435
AL 803 43 0 38 189 54 1,073
SR 453 26 1 10 116 35 606
ERE 555 16 5 20 148 31 744
A L= 1,564 125 2 81 362 128 2,134
LBE 2,716 113 6 125 655 278 3,615
Hijm[= 1,187 37 2 60 262 55 1,548
e 546 25 2 31 100 26 704
&HIIE 745 58 8 35 190 85 1,036
BER 942 69 1 42 281 114 1,335
=S 423 25 0] 16 128 16 592
ERR 4,677 219 8 230 988 368 6,122
EER 450 65 3 42 131 60 691
RIBE 725 35 0 22 209 85 991
HEARIR 1,174 89 0] 54 250 105 1,567
AHE 681 47 2 60 162 68 952
=IFE 772 65 2 50 171 44 1,060
BREE 1,007 66 3 68 232 67 1,376
RIS 312 2 0] 4 73 43 391
tT=4 0 0 0 0 0 0 0

a&t 133,430 5,505 300 6,481 27,358 11,240 173,074
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B[R] 2,730 108 3 204 403 253 3,448
SRR 775 35 3 24 127 25 964
aFR8 710 44 0] 22 177 72 953
=R 1,585 98 1 46 288 119 2,018
AR 556 18 0 12 85 17 671
LR 639 33 4 26 133 49 835
mEE 1,575 157 0] 63 360 114 2,155
KR 2,846 97 0 127 502 184 3,572
N 1,823 68 1 82 432 150 2,406
HER 2,188 69 0 95 452 144 2,804
BEE 8,407 258 9 461 1,926 576 11,061
FEE 5677 151 9 303 1,193 430 7,333
RRED 14,275 131 1 340 2,357 1,080 17,104
fESNS 9,934 168 0 411 1,946 773 12,459
Fins 1,519 78 0] 66 391 122 2,054
2R 725 24 1 20 159 63 929
alllR 840 22 0 25 126 46 1,013
BHE 635 20 1 26 126 29 808
LIS 801 26 0] 35 191 52 1,053
REFE 1,610 34 0 61 368 128 2,073
I RIS 1,690 59 2 41 532 197 2,324
EEIR 3,042 91 1 129 902 274 4,165
BHE 8,005 174 0] 326 2,095 1,055 10,600
=ER 1,495 48 0 34 483 171 2,060
BER 1,093 27 0 21 248 62 1,389
RERRT 1,976 51 2 65 556 216 2,650
ARRAT 7,384 257 0] 365 1,540 686 9,546
"ER 4,288 100 0 140 1,075 395 5,603
ZRE 886 34 2 29 159 43 1,110
AL 613 24 0 29 162 49 828
SR 350 14 0] 7 110 30 481
ERE 468 13 0 14 136 23 631
A L= 1,200 71 1 45 306 91 1,623
LBE 2,173 62 3 74 551 208 2,863
Hijm[= 958 17 2 44 233 44 1,254
e 451 14 0 17 87 19 569
&HIIE 577 36 5 18 155 63 791
BER 713 44 0 28 232 86 1,017
=R 375 7 0] 11 114 11 507
ERR 3,518 111 1 130 863 290 4,623
EER 361 25 0 14 118 52 518
RIBE 577 17 0 11 180 70 785
HEARIR 888 58 0] 34 226 89 1,206
AHE 523 31 O] 42 138 55 734
=IFE 677 48 0 32 158 38 915
BREE 804 51 0 45 210 56 1,110
RIS 230 2 0] 2 62 38 296
tT=4 0 0 0 0 0 0 0

a&t 105,165 3,125 52 4,196 23,373 8,837 135911






